MATH 2250 Calculus 1 Name: A Muwere

Eric Perkerson Date: November 17, 2015

Practice Quiz No. 10

Show all of your work, label your answers clearly, and do not use a calculator.

Problem 1

a Find the Riemann sum with n rectangles for the function f(x) = 3z+1 on the interval [1,2]. To simplify,

use the formula
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Problem 2

a Find the Riemann sum with n rectangles for the function f(x) = z? +x on the interval [0,3). To simplify,
use the formulas
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Problem 3 Using the formulas for the areas of common shapes (e.g. triangles, rectan

and circles), compute the following definite integrals:
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